B 1
FREISERE,. IR EE R

(—) FREHTEE RIVR

PRI BV E Dy St PHAIE S 3 52— 142k 29 S22 uf (AN 18)) A1 44 B3 22 3 B L AR H R
S B B E AL

LR R A Filk SR VR AT T2 SR P e B 1 T2 s 1 T o5 AR, B RS AT
i BEME. FEANEME. LED RARRENE RRHE.

2. ARFERTI)  A: $Rl FVF AT T2 2B N LB AR ] 2 TR s E AR [ RS T ) 5 A, B
T NG BEENG . SCAENG . BRI . BRARTIIG CBRER FPRAR BT PR E TR L A B L AN
AR o ARH R I S B E A o AR 5 SRAR TR A I B PR A B E RS
b B B A [ 5 5 AT S

(2 BtFPUERE 3 T4 — W TE HRIEHE (Lhrul SRR 77 R AA )

K]
, : X — LED R ¥ % 34
AR ST RO Ik UL TR B R
# X

1 A U 3 26 7 40 73 124

2 Bkt sk 18 10 40 68 105

3 A6 3% 7 3k 23 9 40 72 80

4 0 Tk A 3 18 7 40 65 98

5 Rk 23 7 40 70 126

6 A6 ] 3h 19 10 40 69 95 29.92

7 N A ok 22 17 40 79 50

8 Rk K5 3 27 9 40 76 93

9 F X IE 18 5 40 63 112

10 B E] 3k 25 6 40 71 34

11 H R 17 7 40 64 63

12 74 77 7 B vk 20 9 40 69 87

13 B Ak 24 5 40 69 57

14 KM | 30 (800%1600) 5 40 75 114

15 WEREES | 32 (800%1600) 8 40 80 122

16 TR ook 22 12 40 74 122 17.28 m’

17 A e B 3k 28 4 40 72 152

18 T2 B 3k 10 8 40 58 72

19 %ii/“\ 25 (800%1600) 2 40 67 186 93.6 m’

20 b B ok 17 16 40 73 145 13.98 m*

21 ¥ [E 3k 22 (800%1600) 7 40 69 114

22 KB W 3k 30 3 40 73 137

23 K 3k 19 5 40 64 88

24 I 34 3% 25 (800%1600) 9 40 74 90

25 R B ok 18 13 40 71 90 24 m




26 = Subt 27 27 40 94 66
27 Vi 3% % [ 3k 17 13 40 70 134
28 7R R 3k 17 2 40 59 84
29 BB 3h 0 0 40 40 0
A% N 619 242 1160 2021 2840 178.78

FEPE R 3 Fh B 4TI F, B F 6 WER, BT FA 6k 35em=55em

AEENEE BIE, 5% 36 KBIE, it 1584 KB,

FEHE TS GR s A ST B R, (AR R AT AR . Al R BB R ARIR.
TR EZEEMRER, SR CCTV X I ML, ABExE B MG R, A A8 4k
e DA Bt B A5 4 o




